Math 61 Spring 2007 Name:

QUIZ #1 @ 85 points

Write in a neat and organized fashion. Use a pencil. Show all work to get credit.

1) Write the converse, inverse, and contrapositive of the following statement:

Vertical angles are congruent.
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2) Form a truth table and determine all possible truth values for [( P Q) /\’P] -0.

Is the given statement a tautology?
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3) Complete the following to make valid arguments:

a) Premise 1: P->Q b) Premise 1: P>

Premise2: ~Q Premise 2: (§ —> A

Conclusion: < P Conclusion: P —> R




4) Classify the following names as names of points, lines, segments, distances (lengths), rays, or angles.

Make a drawing for each geometric figure

a) AB ine Check one
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d) AB__ensth of Sesuwed 5 Check one

e) ZABC W Check one
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5) Given the figure, name:

a) three acute angles < / , < 2 , < d

b) Tworightangles < Jyc , <3
c) One obtuse angle < AV E

d) One straight angle < A4V 2O

¢) Two complementary angles
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g) Two adjacent angles
<3 pud < 4

f) Two supplementary angles
< 3 oud < AVC

h) Two nonadjacent angles
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i) Two opposite rays SN J) Three noncollinear points.
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6) a) State the hypothesis and the conclusion for the following statement both in words and using
mathematical symbols. Make a drawing to illustrate the statement. Gl Flec a2
/)Z FHo ALPls  Dre W}@«my aud <7 y t
Two equal supplementary angles are right angles. S b7 ‘&%
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Prove the theorem ( two column proof: statements and reasons)
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State the converse of the above statement. Is it true? Why or why not? e e 4 %
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Given: mZRST =2x+9

7) Show a formal proof ( two column proof: statements and reasons) for the following

mZTSV =3x-2
mZRSV =67’

Find: x.
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